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This paper consists of 8 questions. Answer any five questions.
All questions carry equal marks.
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What is production possibility frontier? Explain how each of the following situations
affects natlon s production possibility curve:

(i) A technological innovation allows natlon to produce more of one of the goods

(ii) Prolonged recession increases the number of unemployed workers in the nation
(iii) The quality of education in the nation’s colleges and universities improves

greatly.

Explain the central problems of an economy. How does a mixed economy solve these
problems? |
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2.

(a) Suppose that market demand and supply of cheese are given below:
0,=40~5p
Q,=10p—-20
(i) Determine the market equilibrium pricé. How much quantity will be sold at
~ equilibrium price?

(i) What will happen to the quantity demanded and quantity supplied if
government imposes a price ceiling of Rs. 3 per unit? Would there be excess
demand or excess supply?

(b) Explain consumer equilibrium with the help of law of equi-marginal utility in a case of
more than one good.
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What is price elasticity of demand? What are the factors which affect the elasticity of
demand? Prove that on a straight line demand curve price elasticity of demand varies from
zero to infinity.
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(a) Draw budget line on the basis of following information given below:

(i) Suppose the price of X is Rs. 5 and the price of Y is Rs. 10 and a household has
Rs. 500 per month to spend on both goods.

(ii) Assume that the houschold splits his income equally between X and Y. Show
where the household ends up on the budget line.

(ii) Suppose the price of Y falls to Rs. 5. Sketch the new budget constraint facing
the household.

- (b) Explain consumer equilibrium with help of indifference curve and budget line. How

will rises in income affect consumer equilibrium? What is income consumption curve?
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Discuss the concept of diminishing marginal rate of technical substitution. What does

5. (a)
it imply about the likely shape of iso-quant curve?
(b) How does a producer attain equilibrium?. Explain using iso-quant and iso-cost line.
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6. Calculate Total Fixed Cost (TFC), Total Variable Cost (TVC), Average Variable Cost
(AVC), Average Fixed Cost (AFC), Average Total Cost (ATC) and Marginal Cost (MC)
from the following table: _
Output 0 1 2 3 4 5 6
Total Cost 20 30 35 45 60 80 110
(i) Supposé market price is Rs. 20. How much will the firm produce in the short run?
What are total profits?
(ii) Suppose market price is Rs. 15. How much will the firm produce in the short run?
What are total profits?
frafafigs aroR & ¥ TFC, TVC, AFC, AVC, AC 3R MC #t oM #iffe.
T o | 1 2 3 4 5 6
Fel AT 20 30 35 | 45 60 80 110

(i)

maﬁqwaﬂmmaﬁ%a}mﬁwﬁmmm7§mmw
= g ?

(ii) maﬁﬁmm#mwaﬁ%,a\wfwmﬁﬁmmmaﬁfﬁ?ﬁww

fopam 8 2 6,5,4

P.T.O.



7839 ‘ 4

7. What are the essential features of perfebtly competitive market? Discuss the long run
adjustments that are likely to take place in response to short-run profit and loss in
perfectly competitive market.
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8. Write shért notes on any two of the following:
(a) Consumer surplus and producer surplus
(b) Economies ahd disecc;nomies of scale
(c) Pareto efficiency.
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